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DICE
Practice
Sheet

1. Three different positions of the same dice are shown

(figure 1 to 3). Find the number on the face opposite to

the face having '1'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^1* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

3

24

4 4

2 66 5

Figure-1 Figure-2 Figure-3

(a) 3 (b) 6

(c) 5 (d) 4

2. Three different positions of the same dice are shown.

Find the number on the face opposite to the face having '3'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^3* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

5

43

4 1

6 63 4

Figure-1 Figure-2 Figure-3

(a) 5 (b) 4

(c) 1 (d) 6

3. Three different positions of the same dice are shown.

Find the number on the face opposite the face showing

'1'.

uhps ,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ n'kkZbZ xbZ gSA la[;k ^1* dks
n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lh la[;k gksxh\

6

24

4 5

2 43 3

Figure-1 Figure-2 Figure-3

(a) 6 (b) 4

(c) 5 (d) 3

4. Three different positions of the same dice are shown.

Find the number on the face opposite the face showing

'3'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^3* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

2

63

2 2

3 44 1

Figure-1 Figure-2 Figure-3

(a) 5 (b) 2

(c) 1 (d) 6

5. Three different positions of the same dice are shown.

Find the number on the face opposite the face showing

'2'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^2* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

4

25

2 6

5 24 3

Figure-1 Figure-2 Figure-3

(a) 5 (b) 4

(c) 3 (d) 1

6. Three different positions of the same dice are shown.

Find the number on the face opposite the face showing

'5'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^5* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

5

34

5 5

2 13 2

Figure-1 Figure-2 Figure-3

(a) 2 (b) 1

(c) 6 (d) 3

7. Select the cube that can be formed by folding the given

sheet along the lines.

ml ?ku dk p;u djsa tks nh xbZ 'khV dks js[kkvksa ds vuqfn'k eksM+dj
cuk;k tk ldrk gS\

1

2

3

4

5

6

2
5

6

6 2 1
5 6 6

1 3 4

(a) (b) (c) (d)

(a) Only D / dsoy D

(b) Only A and C / dsoy A vkSj C

(c) Only C and D / dsoy C vkSj D

(d) Only B / dsoy B

8. Three different positions of the same dice are shown.

Find the number on the face opposite the face showing

'3'.

uhps ,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ n'kkZbZ xbZ gSA la[;k ^3*
dks n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lh la[;k gksxh\

2

63

5 1

1 46 3

Figure-1 Figure-2 Figure-3

(a) 1 (b) 2

(c) 5 (d) 4
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9. Three different positions of the same dice are
shown. Find the number on the face opposite the face
showing '5'.

uhps ,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ n'kkZbZ xbZ gSA la[;k ^5*
dks n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lh la[;k gksxh\

3

14

5 6

4 21 5

Figure-1 Figure-2 Figure-3

(a) 4 (b) 3

(c) 6 (d) 1

10. Three different positions of the same dice are shown.
Find the number on the face opposite the face having
'3'.

uhps ,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ n'kkZbZ xbZ gSA la[;k ^3*
dks n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lh la[;k gksxh\

1

56

1 1

6 22 4

Figure-1 Figure-2 Figure-3

(a) 1 (b) 2

(c) 5 (d) 4

11. Three different positions of the same dice are
shown. Find the number on the face opposite the face
showing '3'.

uhps ,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ n'kkZbZ xbZ gSA la[;k ^3*
dks n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lh la[;k gksxh\

4

52

6 1

2 63 3

Figure-1 Figure-2 Figure-3

(a) 1 (b) 6

(c) 3 (d) 4

12. Three different positions of the same dice are
shown. Find the number on the face opposite the face
showing '1'.

uhps ,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ n'kkZbZ xbZ gSA la[;k ^1* dks
n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lh la[;k gksxh\

6

42

4 3

1 52 6

Figure-1 Figure-2 Figure-3

(a) 6 (b) 3

(c) 2 (d) 4

13. Four different positions of the same dice are shown, the
six faces of which are numbered to 1 to 6. Select the
number that will be on the face opposite to the one
showing '3'?

,d gh ikls dh pkj vyx&vyx fLFkfr;k¡ n'kkZbZ xbZ gS] ftuesa ls Ng
iQydksa dh la[;k 1 ls 6 rd gSA ml la[;k dk p;u dhft, tks la[;k
^3* n'kkZus okys iQyd ds foijhr okys iQyd ij gksxhA

6

1 3

5 4 5

2 6 34 3 1

(a) 5 (b) 6

(c) 1 (d) 2

14. Three different positions of the same dice are shown

(figure 1 to 3). Find the number on the face opposite to

the face having '1'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^1* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

4

61

6 2

3 61 4

Figure-1 Figure-2 Figure-3

(a) 2 (b) 6

(c) 3 (d) 4

15. Three different positions of the same dice are shown

(figure 1 to 3). Find the number on the face opposite to

the face having '3'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^3* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

5

31

5 1

6 43 5

Figure-1 Figure-2 Figure-3

(a) 2 (b) 1

(c) 4 (d) 6

16. Three different positions of the same dice are shown

(figure 1 to 3). Find the number on the face opposite to

the face having '6'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^6* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

5

34

2 2

3 55 1

Figure-1 Figure-2 Figure-3

(a) 1 (b) 5

(c) 4 (d) 2

17. Three different positions of the same dice are shown .
Find the number on the face opposite to the face
having '2'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^2* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

5

31

5 1

6 43 5

Figure-1 Figure-2 Figure-3

(a) 4 (b) 3

(c) 5 (d) 6

18. Three different positions of the same dice are shown.
Find the number on the face opposite the face
showing '2'.

,d gh ikls dh rhu fofHkÂ fLFkfr;k¡ iznf'kZr gSA ^2* iznf'kZr djus okys
iQyd ds foijhr iQyd ij dkSu&lh la[;k gS\

3

26

3 3

5 42 5

Figure-1 Figure-2 Figure-3

(a) 6 (b) 3

(c) 1 (d) 4
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19. Six letters and symbols, H, h, I, @, % and $, are written

on the different faces of a dice. Two position of this dice

are shown. Select the letter or symbol that will be on the

face opposite to the one having ‘H’.

,d ikls ds fofHkUu iQydksa ij N% v{kj vkSj izrhd  H, h, I, @, %

vkSj $ fy[ks x, gSSaA bl ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ gSaA ml v{kj ;k
izrhd dk p;u djsa tks ‘H’ okys iQyd ds foijhr iQYkd ij gksxkA

I

% H

I

h @

(a) $ (b) h

(c) @ (d) %

20. Four different positions of the same dice are down, the

six faces of which are numbered from 1 to 6. Select the

number that will be on the face opposite to the one having

the number ‘1’.

,d gh ikls dh pkj vyx&vyx voLFkk,a fn[kkbZ xbZ gSa] ftuds N%
iQydksa ij 1 ls 6 rd dh la[;k,a fy[kh gqbZ gSaA ml la[;k dk p;u djsa
tks la[;k ^1* okys iQyd ds foijhr okys iQyd ij gksxhA

1

5 4

6

3 5

2

4 3

1

4 2

Figure-1 Figure-2 Figure-3  Figure 4

(a) 3 (b) 2

(c) 4 (d) 6

21. Two orientations of a dice are shown. How will this box

look when unfolded?

,d gh ckWDl ds nks vfHkfoU;kl fn[kk, x, gSaA [kqyk gksus ij ;g ckWDl
dSlk fn[ksxk\

7

6 4

5

3 8

(a)

3

7

4

5

6 8 (b)

3

6

5

8

7 4

(c)

5

6

8

4

3 7 (d)

5

6

8

7

3 4

22. A cube is made by folding the given sheet. In the cube

so formed, which number will be on the face opposite to

the face having the number ‘1’ ?

nh xbZ 'khV dks eksM+dj ,d ?ku cuk;k tkrk gSA bl izdkj cus ?ku esa ̂ 1*
vad okys iQYkd ds foijhr okys iQyd ij dkSu&lh la[;k gksxh\

6 1 4 2

5

3

(a) 2 (b) 6

(c) 3 (d) 4

23. Three different positions of the same dice are shown,

the six faces of which are numbered from 1 to 6. Select

the number that will be on the face opposite to the face

having the number ‘5’.

,d gh ikls dh rhu vyx&vyx fLFkfr;ka fn[kkbZ xbZ gS] ftlds iQYkdksa
ij 1 ls 6 rd dh la[;k,a vafdr gSaA ml la[;k dk p;u djsa tks la[;k
^5* okys iQyd ds foijhr okys iQyd ij gksxhA

2

1 4

6

3 1

4

1 3

Figure-1 Figure-2 Figure-3

(a) 6 (b) 3

(c) 2 (d) 1

24. Six letters, D, d, E, e, F and f, are written on the different

faces of a dice. Two positions of this dice are shown.

Select the letter that will be one the face opposite to the

face having the letter ‘D’.

,d ikls ds fofHkUu iydksa ij N% v{kj D, d, E, e F vkSj f fy[ks x,
gSaaA bl ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ gSaA ml v{kj dk p;u djsa tks D
v{kj okys iQyd ds foijhr iQyd ij gksxkA

e

F D

e

d f

(a) f (b) e

(c) d (d) E

25. Six letters A, B, C, D, E and F are written on different

faces of a dice. Two positions of the same dice are shown.

Select the letter that will be on the face opposite to the

face having the letter ‘C’.

Ng v{kj A, B, C, D, E vkSj F ,d ikls ds fofHkUu iQydksa ij fy[ks
x, gSaA ,d gh ikls dh nks fLFkfr;ka n'kkZbZ xbZ gSaA og v{kj pqusa tks ‘C’

v{kj okys iQYkd ds foijhr iQYkd ij vk,xkA

A

C F

A

E D

(a) B (b) E

(c) F (d) D

26. Three different position of the same non-standard dice

are shown. Which letter will be on the face opposite to the

face with the letter ‘Q’?

,d gh xSj&ekud ikls dh rhu vyx&vyx fLFkfr;k¡ fn[kkbZ xbZ gSA ‘Q’

v{kj okys iQyd ds fcYdqy foijhr iQYkd ij dkSu&lk v{kj gksxk\

T U S

Q R PS T U

Figure-1 Figure-2 Figure-3

(a) S (b) P

(c) R (d) U
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27. Two orientations of a dice are shown. This dice can be

obtained by folding which of the option figure along the

lines?

,d ikls ds nks vksfj,aVs'ku fn[kk, x, gSaA ;g iklk fdl fodYi vkÑfr
dks js[kkvksa ds vuqfn'k eksM+dj izkIr fd;k tk ldrk gS\

L

P O

L

Q N

(a)

Q

L

P

M

N O (b)

Q

L

N

M

P O

(c)

M

O

N

P

Q L (d)

Q

M

N

L

O P

28. A cube is made by folding the given sheet along the lines.

In the cube so formed, what would be the number on

the face opposite to the one having 5?

nh xbZ 'khV dks js[kkvksa ds vuqfn'k eksM+dj ,d ?ku cuk;k tkrk gSA bl
izdkj cus ?ku esa] 5 okys iQyd ds foijhr okys iQyd ij dkSu&lh
la[;k gksxh\

1

3

6

4 2 5

(a) 6 (b) 1

(c) 4 (d) 2

29. Six letter A, P, K, U W and N, are written on different

faces of a dice. Two positions of this dice are shown.

Select the letter that will be on the face opposite to the

one having N.

,d i kl s  d s fo f H k Uu i QY kd k s a  i j Ng v{ k j
A, P, K, U, W vkSj N fy[ks x, gSaA bl ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ
gSaA ml v{kj dk p;u djsa tks N okys iQyd ds foijhr iQYkd ij gksxkA

K

A N

U

K W

(a) U (b) W

(c) P (d) A

30. Select the dice that can be formed by folding the given

sheet along the lines.

ml ikls dk p;u djsa tks nh xbZ 'khV dks js[kkvksa ds vuqfn'k eksM+dj

cuk;k tk ldrk gSA

6 1 4 2

5

3

(a)

2

1 5 (b)

5

3 2

(c)

1

4 2 (d)
4

3 2

31. Three different positions of the same dice are shown.

Study the same and identify which of the following

statements is correct?

,d gh ikls dh rhu vyx&vyx fLFkfr;ksa dks fn[kk;k x;k gSA bldk

vè;;u djsa vkSj igpkussa fd fuEufyf[kr esa ls dkSu&lk dFku lgh gSA

1 1 6

3 2 52 5 2

(a) 6 is opposite to 1/6, 1 ds foijhr okys iQyd ij gSA

(b) 5 is opposite to 2/5, 2 ds foijhr okys iQyd ij gSA

(c) 3 is opposite to 6/3, 6 ds foijhr okys iQyd ij gSA

(d) 1 is opposite to 4/1, 4 ds foijhr okys iQyd ij gSA

32. Two orientations of a dice shown. This dice can be

obtained by folding which of the option figures along

the lines?

,d ikls ds nks vfHkfoU;kl fn[kk, x, gSaA ;g iklk fdl fodYIk vkÑfr

dks js[kkvksa ds vuqfn'k eksM+dj izkIr fd;k tk ldrk gS\

$

& @

$

# %

(a)

%

&

@

$

$ # (b)

G

@

$

&

# %

(c)

&

$

#

G

@ % (d)

&

#

$

G

@ %

33. By folding the given paper, which of the following box
can not be made?

fn, x, dkxt dks eksM+dj] fuEufyf[kr esa ls dkSu&lk cDlk ugha cuk;k
tk ldrk gS\

A B L

N

Y

X

(a)
X

L A (b)
Y

L X

(c)
N

B A (d)
X

A Y
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34. Three positions of a dice are given below. What will come
on the face opposite to the face containing ‘4’ on it?

uhps ,d ikls dh rhu fLFkfr;k¡ nh xbZ gSaA ^4* okys iQyd ds foijhr
iQyd ij D;k vk,xk\

9

R M

5

M 6

4

6 R

(a) 5 (b) 6

(c) M (d) R

35. Four different positions of the same dice are shown, the
six faces of which are numbered from 1 to 6. Select the
number that will be on the face opposite to the one having
‘1’?

uhps ,d gh ikls dh pkj vyx&vyx fLFkfr;ksa dks n'kkZ;k x;k gS ftlds
N% iQydksa ij 1 ls 6 rd la[;k,¡ vafdr gSaA ml la[;k dks pqfu, tks
^1* okys iQyd ds lEeq[k iQyd ij vk,xh\

5

1
3

2

3
4

1

6
4

2

5
3

(a) 5 (b) 6

(c) 4 (d) 2

36. Two positions of a dice are given below. What will come
on the opposite faces of the face containing ‘5’ on it?

uhps ,d ikls dh nks fLFkfr;k¡ nh xbZ gSaA ^5* okys iQyd ds foijhr
iQyd ij D;k vk,xk\

6

1 5

1

2 3

(a) 3 (b) 6

(c) 1 (d) 2

37. A cube is made by folding the given sheet. In the cube
so formed, which letter will be on the face opposite to
the face showing ‘B’?

nh xbZ 'khV dks eksM+dj ,d ?ku cuk;k x;k gSA bl izdkj cus ?ku esa ‘B’
n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lk v{kj izrhd gksxk\

R

B

D

A

K

C

(a) D (b) K

(c) A (d) P

38. By folding the given paper, which of the following box
can be made?

fn, x, dkxt dks eksM+dj] fuEufyf[kr esa ls dkSu&lk cDlk cuk;k tk
ldrk gS\

8

C

9

2

B A

(a)
9

2 A
(b)

A

8 9

(c)
A

2 B (d)
C

9 2

39. Three different positions of the same dice are shown.
Select the symbol that will be on the face opposite to the
one having ‘@’?

uhps ,d gh ikls dh rhu vyx&vyx fLFkfr;ksa dks n'kkZ;k x;k gSA ml
fpg~u dks pqfu, tks ‘@’ okys iQyd ds lEeq[k iQyd ij vk,xk\

O

#

%
&

@

#
@


%

(a) O (b) %

(c) & (d) #

40. A cube is made by folding the given sheet. In the cube
so formed, which number/letter will be on the face
opposite to the face showing ‘7’?

nh xbZ 'khV dks eksM+dj ,d ?ku cuk;k x;k gSA bl izdkj cus ?ku esa ^7*
n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lh la[;k@v{kj gksxh@gksxk\

8

7

9

4

A

6

(a) A (b) 4

(c) 6 (d) 8

41. By folding the given paper, which of the following box
cannot be made?

fn, x, dkxt dks eksM+dj] fuEufyf[kr esa ls dkSu&lk cDlk ugha cuk;k
tk ldrk\

J

K

L

A

7 M

(a)
L

A 7 (b)
K

J L

(c)
K

J A (d)
L

M 7

42. Three different positions of the same dice are shown.
Find the number on the face opposite to the one having
8?

,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ fn[kkbZ xbZ gSaA ̂ 8* okys iQyd
ds foijhr iQyd okyh la[;k Kkr dhft,\

8

3 7

5 3

6 61 7

(a) 1 (b) 6

(c) 3 (d) 5

43. By folding the given paper, which of the following box
can be made?

fn;s x;s dkxt dks eksM+dj fuEufyf[kr esa ls dkSu&lk cDlk cuk;k tk
ldrk gSa\

7

4 3

2

6

@
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(a)
4

7 3 (b)
2

7 @

(c)
3

2 6 (d)
@

4 3

44. Three Positions of a dice are given below. What can come
on the adjacent faces of the face containing ‘3’ on it?

,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ fn[kkbZ xbZ gSaA ̂ 3* okys iQyd
ds vklUu iQyd okyh la[;k Kkr dhft,\

2 5

7

4 27 3

6 5

(a) 6 and 4 (b) 2 and 7

(c) 4 and 7 (d) 7 and 5

45. By folding the given paper, which of the following box
can not be made?

fn, x, dkxt dks eksM+dj fuEufyf[kr esa ls dkSu&lk cDlk ugha cuk;k
tk ldrk gS\

P

R

T

U

Q S

(a)
S

P Q
(b)

Q
T U

(c)
S

T U
(d)

R
P Q

46. Three different positions of the same dice are given below.
Find the image opposite of triangle?

uhps ,d gh ikls dh rhu vyx&vyx fLFkfr;ksa dks n'kkZ;k x;k gSA f=kHkqt
ds foijhr iQyd ij tks vkÑfr gS mls Kkr dhft,\

(a) Square/oxZ (b) Line/js[kk

(c) Circle/oÙ̀k (d) Hexagon/"kV~Hkqt

47. Which of the following figures can be formed on folding
the given sheet of paper in the question?

ç'u esa nh xbZ dkxt dh 'khV dks eksM+us ij fuEufyf•r esa ls dkSu&lh
vkÑfr cu ldrh gS\

1

3

5

42 6

(a)
2

4 5
(b)

1

2 5

(c)

4

5 6 (d)

1

2 3

48. Two positions of a dice are given below. What will come
on the face opposite to the face containing ‘J’ on it?

uhps ,d ikls dh nks fLFkfr;k¡ nh xbZ gSaA ml ij ‘J’ okys psgjs ds foijhr
psgjs ij D;k vk,xk\

A

G H

A

I J

(a) G (b) I

(c) A (d) H

49. A cube is made by folding the given sheet. In the cube
so formed, which letter will be on the face opposite to
the face showing ‘F’?

nh xbZ 'khV dks eksM+dj ,d ?ku cuk;k x;k gSA bl izdkj cus ?ku esa ‘F’

n'kkZus okys iQyd ds foijhr iQyd ij dkSu&lk v{kj gksxk\

R

M

G

C D

F

(a) G (b) C

(c) M (d) R

50. Two different positions of the same dice are given below.
Find the alphabet opposite of C?

uhps ,d gh ikls dh nks vyx&vyx fLFkfr;k¡ nh xbZ gSaA C v{kj okys
iQyd ds foijhr iQyd ds v{kj dks Kkr dhft,\

A

C B

B

D E

(a) E (b) A

(c) B (d) D

51. Two different  positions of the same dice are shown, the
six faces of which are numbered from 1 to 6.  Select the
number that will be on the face opposite to the one
showing ‘1’.

,d gh ikls dh nks vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSa] ftuds Ng
iQydksa ij 1 ls 6 rd la[;k,¡ vafdr gSaA ml la[;k dk p;u dhft,
tks ^1* n'kkZus okys iQyd ds foijhr iQyd ij gksxhA

1
4

6

2
4

2

(a) 3 (b) 6

(c) 4 (d) 2

52. Two different positions of the same dice  are shown, the
six faces of  which  are numbered from 1 to 6. Select
the number that will be on the face  opposite to the one
showing ‘3’.

,d gh ikls dh nks vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSa] ftuds fuf'pr
iQydksa ij 1 ls 6 rd la[;k,¡ vafdr gSaA ml la[;k dk p;u djsa tks
^3* n'kkZus okys iQyd ds foijhr iQyd ij gksxhA

5
1

5

4
1

3

(a) 1 (b) 2

(c) 5 (d) 4
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53. Two different positions of the same dice are shown, the
six faces of which are numbered from 1 to 6. Select the
number that will be on the face opposite to the one
showing 6.

,d gh ikls dh nks vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSa] ftuds fuf'pr
iQydksa ij 1 ls 6 rd la[;k,¡ vafdr gSaA og la[;k pqusa tks 6 n'kkZus okys
iQyd ds foijhr iQyd ij gksxhA

2
3

6

2
5

5

(a) 3 (b) 4

(c) 5 (d) 2

54. Three different positions of the same dice are shown.
Find the number on the face opposite the face showing
‘3’.

,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSaA ̂ 3* n'kkZus okys
iQyd ds foijhr iQyd ij la[;k Kkr dhft,A

3
4

4 5

5 4
3 1

5

(a) 2 (b) 4

(c) 1 (d) 5

55. Two Positions of the same cubical block are shown. When
one of the faces W is at the top, which face will be at the
bottom?

,d gh ?kukdkj CykWd dh nks fLFkfr;k¡ n'kkZbZ xbZ gSaA tc W ,d iQyd
ds 'kh"kZ ij gks] rks dkSu&lk iQyd lcls uhps gksxk\

Z
B

X

Y
A

X

(a) Z (b) X

(c) Y (d) B

56. Two different positions of the same dice are shown, the
six faces of which are numbered from 1 to 6. Select the
number that will be on the face opposite to the one
showing ‘5’.

,d gh ikls dh nks vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSa] ftuds Ng
iQydksa ij 1 ls 6 rd la[;k,¡ vafdr gSaA ml la[;k dk p;u dhft,
tks ^5* n'kkZus okys iQyd ds foijhr iQyd ij gksxhA

3

5
6

3
6

2

(a) 6 (b) 1

(c) 2 (d) 4

57. Three different positions of the same dice are shown.
Find the number on the face opposite the face showing
‘4’.

,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSaA ̂ 4* n'kkZus okys
iQyd ds foijhr iQyd ij la[;k Kkr dhft,A

5 2

4 1
3 6

2
4

1

Figure 1 Figure 2 Figure 3

(a) 3 (b) 6

(c) 2 (d) 1

58. Three different positions of the same dice are shown.
Find the number on the face opposite the face showing
‘6’.

,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSaA ̂ 6* n'kkZus okys
iQyd ds foijhr iQyd ij la[;k Kkr dhft,A

3 3

5 4
2 5

2
6

3

Figure 1 Figure 2 Figure 3

(a) 1 (b) 5

(c) 2 (d) 3

59. Three different positions of the same dice are shown.
Find the number on the face opposite the face showing
‘5’.

,d gh ikls dh rhu vyx&vyx fLFkfr;k¡ fn•kbZ xbZ gSaA ̂ 5* n'kkZus okys
iQyd ds foijhr iQyd ij la[;k Kkr dhft,A

66

52
31

3
2

6

Figure 1 Figure 2 Figure 3

(a) 2 (b) 3

(c) 6 (d) 1

60. Two different positions of the same dice are shown, the
six faces of which are numbered from 1 to 6. Select the
number that will be on the face opposite to the one shown
‘5’.

,d gh ikls dh nks vyx&vyx fLFkfr;k¡ n'kkZbZ xbZ gSa] ftuds N% iQydksa
ij 1 ls 6 rd la[;k,¡ vafdr gSaA ml la[;k dk p;u djsa tks ^5* ds
foijhr iQyd ij gksxhA

3

2
1

3
1

5

(a) 2 (b) 4

(c) 3 (d) 1

61.

B

FA

C ?

F ?B D

I II III

What will come in place of question mark?

(a) A, C (b) B, F

(c) E, F (d) E, A

62. Select the dice that can be formed by folding the given
sheet along the lines.

ml ikls dk p;u djsa tks nh xbZ 'khV dks js[kkvksa ds vuqfn'k eksM+dj
cuk;k tk ldrk gSA

B

1

3

4 2

D

E

A C
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(a)

B

D
1 2

34
(b)

C

A
1 2

34

(c)

C

D
1 4

32
(d)

D

C
2 3

41

63. Select the dice that can be formed by folding the given
sheet along the lines.

ml ikls dk p;u djsa tks nh xbZ 'khV dks js[kkvksa ds vuqfn'k eksM+dj
cuk;k tk ldrk gSA

AA

A

1 2 3 4

(a) Only 2 (b) Only 3

(c) All (d) None of these

64. Select the dice that can be formed by folding the given
sheet along the lines.

ml ikls dk p;u djsa tks nh xbZ 'khV dks js[kkvksa ds vuqfn'k eksM+dj
cuk;k tk ldrk gSA

P

T

Q

M R

1

3

2
4

Which of the following option is correct?

dkSu&lk fodYi lgh gS\

(a)
1 4

32

R

P (b)
T 1

4
3

2

P

(c)
R 1

4
3

2

P
(d)

1 2
34

M

P

65. Select the dice that can be formed by folding the given
sheet along the lines.

ml ikls dk p;u djsa tks nh xbZ 'khV dks js[kkvksa ds vuqfn'k eksM+dj
cuk;k tk ldrk gSA

$

#



%

@

©

(a)
@

# $
(b)



© %

(c)


©#
(d)

#

©$

Answer-Key

1. (d) 2. (c) 3. (b) 4. (c) 5. (d) 6. (c) 7. (c) 8. (c) 9. (b) 10. (a)

11. (d) 12. (a) 13. (d) 14. (a) 15. (c) 16. (b) 17. (c) 18. (d) 19. (c) 20. (a)

21. (a) 22. (a) 23. (d) 24. (a) 25. (b) 26. (d) 27. (a) 28. (d) 29. (a) 30. (d)

31. (a) 32. (c) 33. (a) 34. (c) 35. (d) 36. (d) 37. (c) 38. (a) 39. (a) 40. (b)

41. (b) 42. (b) 43. (b) 44. (a) 45. (a) 46. (b) 47. (b) 48. (b) 49. (c) 50. (a)

51. (b) 52. (d) 53. (a) 54. (c) 55. (c) 56. (c) 57. (b) 58. (b) 59. (a) 60. (a)

61. (d) 62. (d) 63. (d) 64. (c) 65. (a)
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Answer With Explanation

1. (d) 3

24

4 4

2 66 5

Figure-I Figure-II Figure-III

In figure I and II
2 and 4 are common.
So, 3 is opposite to 6.
In figure II and III
4 and 6 are common.
So, 2 is opposite to 5.
Therefore, 1 is opposite to 4.

2. (c) 4 1

6 63 4

Figure II Figure III

In figure 2nd and 3rd, 4 and 6 number are common.
So, 1 is opposite to 3.

3. (b) 6

24

4 5

2 43 3

Figure-I Figure-II Figure-III

In figure I and III

4 6 2

4 3 5
1

3 and 4 are common.
So, 2 is opposite to 5.
Therefore, 1 is opposite to 4.

4. (c)
2

63

2

41

Figure-I Figure-III

2 6 3

2 4 1
5

3 is opposite to 1.

5. (d) 
6

23

2

54

Figure IIIFigure II

Figure II  2 5 4

  

Figure III  2 3 6

5 is opposite to 3.

4 is opposite to 6.

2 is opposite to 1.

6. (c) 5

34

5 5

2 13 2

Figure-I Figure-II Figure-III

In figure I and II
5 and 3 are common.
So, 2 is opposite to 4.

In figure II and III
5 and 2 are common.
So, 1 is opposite to 3.
Therefore, 5 is opposite to 6.

7. (c)
1

2

3

4

5

6

1 is opposite to 3.
2 is opposite to 4.
5 is opposite to 6.

Option (d) esa clockwise 1 6 4 fn;k x;k gS tcfd 1 4 6 gksuk
pkfg,A

Note : SSC us bl iz'u dk mÙkj option (c) esa 'only c and d'

fn;k gS tcfd  'only c' gh gksxkA

8. (c) 2

63

5

16

Figure I Figure II

6 3 2

6 5 1
4

3 is opposite to 5.

2 is opposite to 1.

9. (b)
3

1
4

5

4
1

In figure I and II, 1 and 4 are common. So, 3 is

opposite to 5.

10.(a)
1

56

1 1

6 22 4

Figure-I Figure-II Figure-III

In figure I and II

1 and 6 are common.

So, 5 is opposite to 2.

In figure II and III

1 and 2 are common.

So, 4 is opposite to 6.

Therefore, 3 is opposite to 1.

11.(d) 4 6

5 22 3

Figure I Figure II

2 4 5

2 3 6
1

4 is opposite to 3.

5 is opposite to 6.
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12.(a) 
6 4

4 12 2

Figure I Figure II

In figure Ist and IInd, 2 and 4 number are common.

So, 6 is opposite to 1.

13.(d)
45

34 62

Figure IIIFigure II

4 2 5

4 3 6
1

2 is opposite to 3.

5 is opposite to 6.

14.(a) 4 2

6 61 4

Figure I Figure III

In figure I and III, 4 and 6 number are common. So,

2 is opposite to 1.

15.(c)
5 1

3 41 5

Figure I Figure I II

In figure I and III, 1 and 5 number are common. So,

4 is opposite to 3.

16.(b) 5

34

2 2

3 55 1

Figure-I Figure-II Figure-III

In figure I and II
5 and 3 are common.
So, 4 is opposite to 2.
In figure II and III
2 and 5 are common.
So, 3 is opposite to 1.
Therefore, 6 is opposite to 5.

17.(c) 5

31

5 1

6 43 5

Figure-I Figure-II Figure-III

In figure I and II
5 and 3 are common.
So, 1 is opposite to 6.
In figure I and III
1 and 5 are common.
So, 3 is opposite to 4.
Therefore, 2 is opposite to 5.

18.(d) 
3 3

5 42 5

Figure II Figure I II

In figure II and III, 3 and 5 number are common. So,
4 is opposite to 2.

19.(c)

%
H

I

h
@

I I

I

H

@

%

h

H is opposite to @.

20.(a)

5 4
1

3 5
6 1

4 2

2

4 3

According to I and II dice 5 is common.

5 1 4

5 3 6
2

1 is opposite to 3.

21.(a) 7

6
4

3 8

5

3

7

4

5

6 8

When we pack this open dice then we find it.

 4 8

7

5

3
6

So option (a) is the correct answer.

22.(a)

6

4

1

2

5

3
6 1 4 2

5

3

1 is opposite to 2.

23.(d) 2

1 4

6

3 1

4

1 3

Figure-I Figure-II Figure-III

According to figure I and II, 1 is common.

1 2 4

1 3 6
5

5 is opposite to 1.

24.(a)

F
D

e

d
f

e

e

e

D

f

F

d
E

D is opposite to f.

25.(b)

C
F

A

E D

A

A

A

F

D

C

E
B

C is opposite to E.
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26.(d)

Q S
T

R T
U

P U
S

Figure-I Figure-II Figure-III

According to I and II figure, T is common.

T S Q

T R U
P

Q is opposite to U.

27.(a)

P
O

L

Q N

L

L

L

O

N

P

Q
M

Q

L

P

M

N O

28.(d)

4 2 3 5

1

6

1 4 2

  

6 3 5

5 is opposite to 2.

29.(a)

A
N

K

K
W

U

K

K

N

U

A

W
P

N is opposite to U.

30.(d)

3 2
4

6
4

5
3

1
2

6 1 4 2

5

3

So the correct answer is (d).

31.(a) 1

2 53 2
1 6

5 2
3
5

2
4

1
6

6 is opposite to 1.

32.(c)

&
@

$

# %

$ $ @

%

&

#$
G

&

$

#

G

@ %

33.(a) A B L

N

Y

X

  In open dice alternative surface are opposite, and
opposite side never adjacent to each other.

A 
opposite

 L

B 
opposite

 Y

N 
opposite

 X

 So option ‘A’ L
A

X
 is correct.

34.(c) R
M

9

M
6

5

6
M

4

M is common in I & II dice

M
R 9

5 6
4

 M is opposite to 4.

35.(d) 2
4

3

1 2
4 3

6 5

5
3

1

3 is common in I & II dice

3
1 5

2 4
6

 2 is opposite to 1.

36.(d)
1

5

6

2
3

1

1 is common in both dice

1
6 5

3 2
4

 2 is opposite to 5.

37.(c)

R

B

D

A

K

C

opp.

opp.

opp.

 B is opposite to A.

38.(a)

8

C

9B A

2

opp.

two opposite surface never come together so, option
‘a’ can be made

39.(a) O

#

%
&

@

#
@


%

% is common in dice Ist and IIIrd


%

O #

@
&

 O is opposite to @.

40.(b)

86

7 A

9

4

 7 is opposite to 4.
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41.(b)

7 M

JA

K

L

 two opposite surface never seen together that’s why
option (b) is correct.

42.(b) 3
7

8

6
1

5

6

7
3

by observing that 1st and 3rd dice. We can see that 3
and 7 are common. So, 8 is opposite to 6.

43.(b)

7

4 3

2

6

@

opposite surface can never come together therefore
option (a) dice formed.

44.(a) 2
5

7

4
7

6

2
3

5

7 is common surface in dice Ist and IInd

7
5 2

4 6
3

7 is opposite adjacent of 2 therefore, option (a) is correct.

45.(a)

P

R

T

U

Q S

Q is opp. to S therefore never be adjacent
option (a) can not be made.

46.(b)

I II III

In Dice IInd and IIIrd  is common

?

  is opposite to .

47.(b)

1

3

5

42 6

option (a) can be formed on folding the given sheet of

paper 4
5

2

48.(b) G
H

A

I
J

A

A
H G

J I

 J is opposite to H.

49.(c)

R

M

G

C D

F

 F is opposite to M.

50.(a) C
B

A

D
E

B

B is common the both dice.

B
C A

E D

therefore, C is opposite E.

51.(b)

2

1
4

2
4

6

Here, two surfaces are common so, opposite of 1 is
remaining surface that is 6.

52.(d) 5
1

5

4
1

3

Here, two surfaces are common, so the opposite of 3 is
remaining surface that is 4.

53.(a) 2
3

6

2
5

5

Here, two surfaces are common so the remaining surface
is opposite of 6 that is 3.

54.(c) 3
4

4 5

5 4
3 1

5

I II III

In figure I and II all three surface are common so we
compare figure II and III and we find two surfaces
are common therefore, opposite of 3 is 1.

55.(c)

XX

AB YZ

X,    B,    Z

X,    A,    Y

W

Y will be at the bottom.

56.(c)
6

5

3

6
3

2

5 2
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57.(b)

5 2

4
1

3 6
2

4

1

Opposite of 4 = 6

In figure I & III 1 and 2 is common.

So, 4 is opposite to 6.

58.(b)

3 3

5 4
2 5

2
6

3

From figure (i) and (ii) there are two common surfaces.
So the opposite of 6 is remaining surface that is 5.

59.(a)

66

52
31

3
2

6

From figure (ii) and (iii) there are two common
surfaces. So the opposite of 5 is remaining surface
that is 2.

60.(a)

3

2
1

3
1

5

There are 2 common surfaces  in both figure so that
opposite of 5 is remaining that is 2

61.(d) A is opposite to C

B/F is opposite to D/E

As we know A and C can not be seen together and
can not be hidden together.

Thus option (a) is incorrect (A and C are together)

Option (b) and (c) are incorrect (A and C are hidden
together)

Therefore option (d) is correct.

62.(d) A  C

D  E

B  
1

2
3

4

From option elimination trick (A) and (B) are
incorrect. Option (C) is incorrect. (since 1, 2, 3 and 4
should be in anticlockwise direction)

63.(d) Two alternate blank surfaces will be opposite to each
other while the remaining two alternate blank surface
will be opposite to each other. Also A  

Hence A and  can not be seen together and can

not be hidden together.

Therefore figure I and Iv are incorrect.

Hence figure II and III are correct.

64.(c) P  Q

M  R

T  
12

3 4

Option (A) and (D) are incorrect. (Since  won't be
foremed.

Option (B) is incorrect. (Since  is opposite to T)

65.(a) $  

#  %

@  ©

No potion can be eliminated from option elimination
trick. hence we will use rotation method.

In open dice , ©, and % are in clockwise direction
while in option (b) they are in anticlockwise direction.
Hence it is incorrect.

Again in open dice $, © and # are in clockwise
direction while in option (d) they are in anticlockwise
direction. Hence it is incorrect.

Here in both open dice and option (a) is correct.


